i (A —IKTAE) samHso0-H00

(] 48t (L=2000)L=10008 3 & [ thoeshBhss - v 797 122 (L=2000)

L=1000% 5& T &

H1

H1
h
H

]
W

WU | a | W | h |[H |[tl|b |d pook WU%4 | a | W | h | H |H2 | t1] d sAER
LU 180 200 510

300 (H200y| 300 | 400 | 300 | 469 | 104 300 300 | 400 | 300 | 665 | 469 | 100 | 180 673
400A 200A

(mz=%zEH| 360 | 480 | 375 | 560 | 546 | 180 | 280 600 (mz=z)| 360 | 480 | 375 | 746 | 546 | 100 | 260 788
400B | 400 | 520 | 410 | 610 | 596 | 180 | 320 775

[l - &£k (L=2000) [] g - vyh 797" &K (L=2000)

200
b 20 d
H GL-Fy (125 .
% o RIL FEE e 3
: : R ~EE
b=
= = =
o
B
W
W
BUZ| a | W | h [H |t ]b | d sx38
2001 50) M4 | a W h [ Hl [ H2 | t1 | d §ﬁ§§
300 G200, 300 | 400 | 300 | 469 | 104 | 180 | 200 490
400A
(mzzz) 360 | 480 | 375 | 560 | 546 | 180 | 280 575 300 | 300 | 400 | 300 | 665 | 469 | 100 | 180 673
400A
400B | 400 | 520 | 410 | 610 | 596 | 180 | 320 705 (Esz447)| 360 | 480 | 375 | 746 | 546 | 100 | 260 813

[]#& M7 A - 738 (L=2000) [] chsh syt - 390 797 B8 (L=2000)

200

JL-FLy (1-25)
AL FEE FL-F25 (1-25)
S AL FEE
bt &
pw
— o
T = =
o
= x|
1 i=1
v 2
3
f=
gl =
o
I
W
HU%| a | W | h |H |[tl|b|d saan po—
1 N a =
oo — T . FU4 W | h |[H [H|tl]d b
300 (200)| 30O | 400 | 300 | 469
200A 300 300 | 400 | 300 | 665 | 469 | 100 | 180 728
(mz=% 7| 360 | 480 | 375 | 560 | 546 | 180 | 280 688 e
4 360 | 480 | 375 | 746 | 546 | 100 | 260 881
400B 400 | 520 | 410 | 610 | 596 | 180 | 320 810 CiEsEED




